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OBS: igual ao cap. 1 da 3ª edição
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OBS: Iguais ao do cap. 2 da 3ª edição.
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OBS: Iguais aos correspondentes exercícios no cap. 2 da 3ª edição. Sobre as tabelas Q2.9a e Q2.9B, ver próxima página. 
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PROBLEM SET

1.1 Graphically demonstrate the Fisher separation theorem for the case where an individual ends
uplending n financial markets. Label the following points onthe graph: initial wealth, W; optimal
production/investment (Py, Py); optimal consumption (CJ, C}): present value of final wealth, Wy

1.2 Graphically analyze the effect of an exogenous decrease in the interest rate on (a) the utilty
of borrowers and lenders, (b) the present wealth of borrowers and lenders, and () the investment
in real asets.

1.3 The interest rate cannot fall below the net rate from storage. True or false? Why?

1.4 Graphically Shustrate the decision-making process faced by an individual in a Robinson Crusoe
‘economy where (a) storage is the only investment opportunity and (b) there are no capital markets.

1.5 Suppose that the investment opportunity set has N projects, all of which have the same rate
of retur, R*. Graph the investment opportunity set.

1.6 Suppose your production opportunity set in a world of perfect certainty consists of the
following possibiltes:

Project  Investment Outlay  Rate of Return (%)

A $1,000,000 13
B 1,000,000 2
c 2,000,000 4
D 3,000,000 30

References 15

(a) Graph the production apportunity set in a Cy, C; framework.
(b) If the market rate of return is 10%, draw in the capital market line for the optimal
investment decision.
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PROBLEM SET

21 Basic capital budgeting problem with straight-line depreciation. The Roberts Company has
cash inflows of $140,000 per year on project A and cash oulflows of $100,000 per year. The
ivestment outlay on the project s $100,000. It life is 10 years. The tax rat, ., is 40%. The
opportunity cost of capital s 12%.
(a) Presenttwo alternative formulations of the net cash flows adjusted for the depreciation
tax shelter.
(b) Calculate the net present value for project A, using straight-line depreciation for tax
purposes.

2.2 Basic capital budgeing problem with accelerated depreciation. Assume the same facts as in
Problem 2.1 except tht the eamings before depreciation, nterest, and taxes is $22,000 per year.

(@) Calculate the net present value, using straigh-Jine depreciation for tax purposes.
(b) Calculate the net present value,using the sum-of th-years digits method of accelerated
depreciation, for tax purposes.’

2.3 Basic replacement problem, The Virginia Company is considering replacing a riveting ma-
chine with a new design that will increase earnings before depreciation from $20,000 per year (0
551,000 per year. The new machine will cost $100,000 and hos an estimated fife of eight years,
with no salvage value. The applicable corporate tax rate is 40%, and the firm's cost of capital is

129%. The old machine has been full depreciated and has no salvage value. Should it be replaced
with 2 new machine?

2.4 Replacement problem when old machine has a positive book value. Assume the same facts as
in Problem 2.3 except that the new machine will have a salvage vatue of $12,000. Assume fusther
that the old machine has a book value of $40,000, with a remaining life of eight years. If replaced,
the old machine can, at present, be sold for $15,000. Should the machine replacement be made?

25 Cash flows. The Cary Company is considering a new investment that costs $10,000. It will
Tast five years and has no salvage value. The project would save 83,000 in salaries and wages each
year and would b financed with  loan with interes~ costs of 15% per yeas and amortization costs
(repayment of principal on the loan) of $2,000 per year. If the firm’s tax rate s 40% and s after-
tax cost of capital is 20%, what s the net present value of the project? (Note: The annuity factor
for five years at 20% is 2991.)

"5 Depreciation inyear 1 0f a5-year projecis 5 divided by the sum ofth digitsfor years 1 through 5, that i, 15.
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26 Calculate the inteml rate of eturnfor the following set of cash flows:
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Ifthe opporunity costofcaptelis 10%,should the prject be accepted?
217 Calculse the interna e of et on the ollowing st of cash fiows:
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2.8 The Ambergast Corporaionisconsideringaproject that asa three-yearife andcoss $1.200.
e would save $360 per ear in opereting ostsand increase revenue by $200 per year. It woukd be
financed with  tree-yearloan withth followiug payment schedules (the annual rteof et
i 5%)

Payment  nterest Repayment of rincipal  Balance

065 6000 39085 81935

woss 4097 39968 41967

w6 098 41967 0
12195 120000

Ifthe company has s 10% afte-ax weighted average costofcapil, has 2 40% tax rate, and uses
staight ine deprecatin, whats the net present vlue of the project?

29 The weasurer of United Souther Capital Co. has submitted & proposal to the bosrd of
directors hat, he argues, willincrease pofis for the allequity company by a whopping 55%.
It costs $900 and saves $290 in Jabor cost, providing a 3.1-year payback even though the
equipment has an expected S-year lfe (with 10 salvage value. If the firm has a S0% tax rae,
uses staight-line depreciation and as a 10% weighted average costof capita,should the project
be accepted? Income tatements before and afer the project ar given in Tables Q2.9And Q29B,
respectively.

2,10 The cash flows or projects A, B, and C are given below. Calculae the payback period and
net present value foreach project (assume a 10% iscount o). I A and B are mutually exclusive
and Cisindependent, which project, or combination of projects, i prefered sing (a) the payback
method or (b)the ne present valo method? What o theresult el you about he valoe-additvity
propertes of the payback method?





image4.png
4 Chaptera: Investment Decisions: Th Certainty Case
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211 Caleulate the intermal rate of tetu on the following set of cash flows, acconding 0 the
economic iterpretation of inernal rate of retum near the end of Section F:3. Assume that the
opportunty costof capital s A = 10%.

Year Cash Flow
o -5
1 10000

2 AW




